EAGRAROBREERT — 2 N— ABISH —F 202051273130 (H) 3E4m4H

R B R T e (w8 | mEmml - (w5 oo 8
[A&4)] 1 7% :7,900,000 @ 23 :3,200,000 3 3 :2,000,000 @ 43 :1,200,000 @ 5 j& :790,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
g w4 | BEEEIE 3:16.5 1=1-1-1 [13.1 | — 3 | 456 |EHB— (R®E)
il Fya—xd192z “ 7| 600 =) Loy |TEETEE )
LA T*AT v — BiRkyd—XEY— Elize]
5.7 o S > 4 | FREA 3:17.9 5-4-4-4 | 13.2| — 2 | 476 |BMIEE (KE)
2157 T4 LATL~YY— - 60.0 ®) (-8) (B) Y>7—L—>>9
RiW—5— 9T B:AH—Ly hLF1 =¥ T L
R e BiRE : —11-0— — AR (EXR)
3 P RPESAVDE, 43 SAIEE 3.(128>.2 13-11-9-8 | 13.2 12 z:g()) e
LIET7rAT7 BUACTrTr—L )1 &%
» s > 7 | NHFFHK 3:18.4 8-8-5-5 |13.2| — 4 482 | NEfREL (M)
Al 1 =77y X (1 1/2) Ca | )AL= 2A-x
R:xF1=T7—Z B:T7-U-—TXUh> HET7— L4
o $ARBEX :18. -10-7- . — HAKERF (i)
507111 @< ISV T4 HR 4 6 o 3(138)9 10-10-7-7 | 13.3 11 (4_(;2) 5€§¥ib)¥
L7Vt - BANRUFILELH— LERS
o SHAS 19, 66~ 3] = FEE—ER (i)
cBl 4| 7171 21E~ [B] ) A AR L P | mEa
R:7RYAVYL—> BTATATTF AN S
o o B o4 | BEE 3:20.8 2-2-2-3 | 13.4| — 1 462 | FEE (BR)
7 gl|FLTFLEY 58.0 ®) (a) | BREIRAE
RJTIURN BXTRATHT Y FHREHS
R 44 | ABEEFIIR 3:21.1 4-5-8-9 | 13.4| — 14 | 494 |HBEER (ERH)
8 2 77X 2R 60.0 (1 3/4) (=20) /J\Eﬁgﬁ—
R:T7RAXLTEL B:9avxY /T AT4HE
N B4 | HBEH 3:21.4 3-3-3-2 | 13.4| — 8 468 | EAKZRE (EiH)
9(8|14 JAXHE T4 — 60.0 (11/2) (-6) (B) BABRERBERMS
R:TwINEry b BEAT T XTI — peimbie
. S 44 | BEX 3:22.9 14-14-13-10{ 13.5 | — 7 496 | KEFE— (EH)
10/ 8113 1y F70—-K 60.0 (9) (+14) BT
R—FHISIYL BAYHYH I —X KRBT 7 — L
S i o6 | AU 3:23.2 12-13-14-13| 13.5 | — 5 484 | BIEHE (EH)
vy ¥ 60.0 (1 3/4) (+4) Z’SE'@{&
LY LIAN=t BTy FvF [=Eazie ]
S, 4 5 | dLiRfat 3:23.8 9-9-10-10 | 13.6 | — 6 504 | BIRA— (ER)
e 60.0 31/2) © | xrEyhIr—4
R:IAY>75yva1 B:¥zvh et ]
. . > Tz : -11-10- - [/ v
Eed— LT A X > 3 ?;f_rOA 3.(264).8 11-11-10-10| 13.7 10 (i?g) %A:Eg;& (FH)
RWN=F—=9T B:I772899 97974 HE77—»4L
o A 128. —6-10- . - #ILEA (FEX)
®RY—L7O— 4 6 Bl ((;2{8*;) 5-6-10-14 | 13.9 13 (4+392) Lok
R:bhIotE R By v HO%5
@ 21 L
£y 51.5-38.6
ngraAq L
® I—F—&EBIERL
| S=7r= 1-3,14-2-(4,10,7)-12,6,11,8,9,5-13
23—+ — 1-3,14,7,2(4,10)12,6,11(8,5)9-13
3T—7— 1,3,14,7,12-4-11,2,5-(10,6,8) 13,9
Mal=5r= 1-14,3,7,12,4,11-5=2-(6,8,13)-9-10
[ N
BB 1 460M | | 71 K 1-7 460/ | | B = 1-5 880M | | 3EfE 1-5-7 27,180M
7 B 1 210M 15 6,800 | | f5 = 1-7 1,030 | | 3:&E 1-7-5 117,830M
7 160 5-7 3,600 B H 1-7 2,320M
5 1,680

ABRICOVTHRTEEERROODE, THEB LS,



